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June 14

153527 X
What is the *°72°27 X°12?
(. mmMD2)
Artscroll says;

“Rashi writes that there is water in [a certain spot in ] the ocean that absorbs all water
that fall into it. This “swallowing water” draws the other waters to the abyss and there spews
them out. That is why, as Ecclesiastes (1:7) says, All rivers flow to the sea yet the sea is not
overfull. Rashi’s source is apparently in Midrash Rabbah; see note 11. Rabbeinu Gershom adds
that there are those who connect the swallowing water to the miraculous “well of Miriam” (the
rock that provided water to Israel in the Wilderness; see Shabbos 35a).”

I think N1201N is saying it is the water of a certain place which is located on land. He argues with >”u.
The concept is the same that he gave them an impossible task to accomplish.

| wanted to give a real life JavaScript example. | one time wrote a JavaScript Apps Script code
that copy pasted a few columns then deleted most of the copied data. By mistake at the end of the
function | called the function itself, which resulted in the function repeating forever.

Here it is:

function neverEndingFunction2() {

var ss = SpreadsheetApp.getActiveSheet();

var spreadsheet = SpreadsheetApp.getActive().getSheetByName('Home Tab');
spreadsheet.getRange('A1').activate();

var currentCell = spreadsheet.getCurrentCell();
spreadsheet.getActiveRange().getDataRegion().activate();
currentCell.activateAsCurrentCell();

currentCell = ss.getCurrentCell();

var sheet = SpreadsheetApp.getActiveSheet();

sheet.getRange(1, 1, sheet.getMaxRows(), sheet.getMaxColumns()).activate();
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currentCell.activateAsCurrentCell();

SpreadsheetApp.getActive().setActiveSheet(SpreadsheetApp.getActive().getSheetB
yName('Paste Tab'), true);

sheet.getRange( '\ 'Home Tab\'!A1:h7"').copyTo(spreadsheet.getActiveRange(),
SpreadsheetApp.CopyPasteType.PASTE_NORMAL, false);

sheet.getRange('A4').activate();

currentCell = ss.getCurrentCell();
ss.getSelection().getNextDataRange(SpreadsheetApp.Direction.NEXT) .activate();
currentCell.activateAsCurrentCell();

currentCell = ss.getCurrentCell();
ss.getSelection().getNextDataRange(SpreadsheetApp.Direction.DOWN) .activate();
currentCell.activateAsCurrentCell();
ss.getActiveRangelList().clear({contentsOnly: true, skipFilteredRows: true});
SpreadsheetApp.getActive().setActiveSheet(spreadsheet, true);
ss.getRange('A1').activate();

neverEndingFunction2();

3

End of Never Ending JavaScript Function;

(77w ’D5W17’) 1770 107710 PR 7127712 120K AW TR?N AKX TN °27 0w31 73 °27

Maybe when you say over this 1?17 you should make sure to say 13111 *1 Ow3 7111 /7 otherwise if you
only say 713117 /1 there might be a question of which 713117’ are you referring to; The 7n%n or the *27.

Now if it was the 7171 so according to the 7> then it is not a 77>, but if it is not a 7”177 because it
was from the 7170 then it is ok to accept the 7717, but then etc. etc..

This never ends..
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All The Bad Guys
All the bad guys in the first half of 1°10>1 noon:

(mrwy)pppo 1

Extortionist
(Arwy) ume 2

Blackmailer
(. 7pws)mo”y .3

Mauraders
(:M2 Pw2) PO .4

Executioner
(:M2 Pv23) yAW0MD .5

According to >’ this term means 7 P03 in °0719 /2, but according to X311 it is the 7
DAY 217371, Their big judge.

(. P®2) XN XA .6
A nudnick that keeps nudnicking about turning the lights off.

Oh Xinm7. So annoying.

PATINT TIX DN 1PRL PO PR AR PYIL PWNR PRI NN PUmy 0035 1K1 AP0 33710
(1 PU1) 1NN WNW XY

(.1 P©23) D10MM °B% TIAWK TN YW D LXK
(71 7w1) PN 12 PN

(" pPw3) PNTR AR PPN
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Zero
| want to start with Zero which is the JavaScript number one.
Zero DOX
The word 09X is usually translated by D19P11X as TN meaning “only”. Here is one exception:
(17:25 0127)

The next 12w’ WX after >27 was named DBX "1; was he the last X1N or the first XT1MX? How many
M1’ do we have from him anyways?

| found two.

D2 PPN PN TN TIAX PIWA MM I M XD P70 X072 WORK XN 7Tt m wpb vt .1
27901 °X)T 1P °KN 1D 22500 Y¥nT X2 102N 2D XITIX XPT 9 *U2°0 K? 7D pPHh0n PXn XPT KT
D1772W M2 PXX WRIwIR NIWI P w10 K PRR0 XD KT XA XNWT XRDTT IR KX
(:710 P21PL) DNTWW DPWY 7127 172 K DX 19 197w INK 112 PR

(.XD XnP) D2°72w MINN1 0K "1 IR 1 .2

| thought there was one in D°?pW but | can’t find it.

The word zero is basically the same in Spanish and French:

Spanish cero

French zéro
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Re-Attached

(. P2 PYP) T A2 K A 2 13031 5N 1200 1202 1700 1202 0 XaX A vxnw .1
(1 7122711 2712 PYrPa maka 0"anT) mpann M .2

| mean in this that he as they say, “snapped”, and continuing the analogy, | would say he got
“re-attached”.

(P9I >N "7 ;AR 0’17 N190INA XA17) XNDOMN

P2 IR X XDW 727 DA 1K YU T 012 09w 0n 10 PRI 0D OKYN 1w DIXP W OX .4
("2 7puo nop 112°0 N™K) 07?712’ NAw1 197K 0PW

XD K 77220 WP KXW XD 712719 P20 PR XN XM 1219 2700 00°P2 717190 XTOM 1 NK .5
(.X2 P2PY) 72N WP

(.7 NAw) X°70 2% XIMX NTIRD .6

w

Question on this one is this really considered attached? Reb Ira Piltz says a psak from Rabbi
Gross 2”¥1 about watches that stopped working on Naw. You can look it up on the shul website
on the daf yomi for this daf three years ago on this daf.

7. | put these two X770)’s to add 0’71 to the list of the re-attached.

710 1w WX NX 2°N327T N2 100 X2 IAPKT 3EXK DK KN 073w TP X377 P02 XOX DK
(AP NIAW) IN 719 NPXK WX NXIPPOXK 72107 0P TR0 ung

MO X271 2°N2 2PW° N°2 DU IMH0N OPRY 37 M231 TAXIW NAD0I DXIWPD 0713 0°Wwp 1291 "1 K
(:u PYATR) NADOY NXYS 0N 2N

(:1 NAW) A¥T 7T 095w X7 ... XNOpho .8

| don’t want to include here (. TP NAW) 12wK DX PPN because that isn’t really not attached.

On Est Les Oubliés

People:

(:12 MAN2) (.M M) M x> om - .1
(:11 JOP TWA) (M1 MI732) 121257 1A MoNwn NRN PR .2

Perhaps this is some sort of NP2 here according to 2X1MW it is 30 days and according to 271 it
is 12 months.

727011 DX 1217 22 2°PN2T MIAKT 2301 D°LAWN NIWY PINA? 7P0w 0N ma XD PR IR Eanr .3
17°21 727 X 12 PR TP PR TR0 XPX DU POU X2IN0 X231 1A DAY wax 1w XD
TP X2 WK DPPPXT WK 2P0 U IR PR IR TIXIT IR WK T 17X 70 K0 20007
XOX DX 1722 Mamn PUPwR D 1200 17 221 DX 1722 N2mn PU Pwn IwR f9K0 021270 DX X0
(7 12230) 15U PR IPwRY TRPn



n”a

Learning or XNunw:

(179 PR RN R .4
TPWIA XTAY PXINY T4 X2 7"DXK1 PIT UK PP XN L5

Perhaps the D°w19n say that YX1nMw didn’t forget it he just didn’t want to rule in accordance with
it.

X120 °27127 N2 P17 7K XA 912221 2201 70K 2770 70 1PN PPRRN 1RIK 277 7wl 1l 0D
LR T 720K 72 XIX 0P 172 M KD 121191 KD 12w DAX 3N XP1T 1200 179 XU2n
(.31 M1272) 13703 XD XA N27121 277 7PwO3 M1 10K XPIAXK WP U Pmnxd

This isn’t a forgetting because they never learned it to begin with.

M1 P10 PInT PNNUAY? PN 277 PwDI M3 X °NIXK XN77 72 9Ky 72 P M MK .6
XIAMX WIPR X120 7172 822207 1IN’T XN X WTPn XN97 79 X227 171’1 277 PP XIXpP

(1P o°rion)
This.
This is a forgetting.

>22111 929 M0 TAKIW PG 92 DU PRMAW TU PO TR DI PR XAX T2 R T INR L7
D2 PRIPL D 12 TN WA WHWIT INRKIY PRIDL D NN K XIIA0 272 K19PnN 925 X015
PR AR TPIIAX PR D IpWK W oY 11mnD mownT 11 Ao 1K PP N25n 120wn
X711 12773 XOPIAK DX 22X 72 K XNUAY X770 °9 1PRw X2 9017 10K 17K X017 9227 1370
o 0P P17 XUAW X709 7PI0IK XN29 EX 7w NP0 °27 PR3 D 1901 XDPIRK XD2I00
M7 7277 7 wnw M XIXP XIA0 M0 17K KDY 7P703KT DX XU 17370 7PRp X201 770K %20
(.X7 0°773) 121271 >0 NAN TR XNXT XIKR 7P0R N0 00 X201 DI 007

This.
This is a forgetting.

PR °272 KT KIUT XD 1"2w12 KT *272 X000 KAX 7 7PP0 PUny O 129Ky Nk .8
X179 °27 17307 7K D227 *71272 27 AW AwLR AKX 0T 1 RDK 22T K I oY 1Rk 3" wd
12 NUAY 12 AW 227 M 2% 7072 12 70 12 DX 91730 X©1D 15w 132 12 Xv1D 12 UK 1 5wl
(239 Pw23) 2712 77 PXPPRI 1A NUAY 12 KT 9RO

27 7R%Y P17 MW 1TIW 12700 TANKT TR T XTI NN PXINY N7 PI0 DPUnw 18 1 I0RK
XIUT XP1°121 770 XD XTI °P20 770 XTA2 T9°8 92 77127 72K K DRI XY 00 0K
1277 AW 0PI MY XY ™M 17240 1210 XN27722 °INT0 X I A0 10K 10 UK
XN72 38 27 PINT MUAT M7 APK DDA OXINY K 212231 770 X1 21w 127 717IR 120 Uny 2w
(.- PYd) D R XD

| don’t think this is a forgetting because they never learned it to begin with.
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(TP NAw) TR A TEEK " .9
(:31 M272) 7125 XWX 71772721720 .10
P11 .11

Faux Amis
Peut : Could
Peux : Could
Peu : A bit or Little
Peau : Skin

Puh Puh Puh Puh ....

The Faux Amis of xop ’7;

(.1op ]"717'[) 7722710 PRI XY 17 X 273277727 WNW W AK XD XDD TN .1
"N K21 TIX XD 22112 22K 01 MK P01 ANKIN 1IX TRX XD .2

Well if we are talking about a man who is going through a difficult time (the male equivalent of
child birth whatever that may be) wouldn’t it mean that the friends that aren’t there for him at
that time are not real friends? 11717 ... Faux Amis ...

(:2°p O°00D) XD 17T wLN WA .3

10NN Y1 NN 132 NX 11230 73’1 M2 71°22 NI231 MU 12 N2 NAX PRIX AnPaw " wn
°12 DX NN 12 77K INXIW 7wy 121 PMun XX T4 70NN DU 2w 12 77K XDD 1 NIDIW
(:2°p O°’no?) NI N IPaams)

Faux Amis
Plus : More
Pleut : Rain
Toi : You
Toit : Roof
Tu : You

Tout : All
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Ta : Your

Tempes : Time

Example of Ta and Tempes in a sentence: “Le Nudnick va te faire perdre ta temps”
Poing : Fist

Point : Point

Tiens : Take

Tient : Holding

Coeur : Heart

Corps : Body

Was That a Goal? (French / Spanish)

Was that a goal?

Where is Yitzy Stern with his measuring stick?

Spanish engafiar To Cheat
French gagner To Win

Here is the explanation: You see many years ago at the World Cup Soccer Game it was France versus
Mexico, and France Won.
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Mwa Mwa Mwa etc.
Moi : Me
Moins : Less
Main : Hand
Ma : My
Mots : Words
Et A la Foi

Moment : Moment (sounds like MaMa) Going back to the previous ones Maybe you can say:

Ecoutez Ma Mots en ce moment (listen to my words at this moment)

Ma Ma Ma Ma etc.

Mother Versus 0"’

NP7 P2 I OX 'K 7K 121 1K TN INTY? PR NN 0K 10728 %2 [0 227 [XR0 XKW 0 WK 30T 0K
XUIKD DIXT P2w 01D PHWT K123 KIPUA 77 11 X723 XK1Y 719 72U PUWnn XU D 70K PR XX
XK NXTP? TOXK D" PIXD 72 PR NXY? 177 K 307 7 7P0Rp2 XNK 702K 791K XPT Unw DX
"7 PP XNX O I D1pna NXYD MPYN1 0K PP 1K XNX 7T XNTMD 10K U7 0PK 9RO
N7 XK DX P2 17K 019w 7P Dpni 'K 72 0K R0 DMK N1 1N R X027 01w nn PR TubK
(:X5 PYATR) °pD1 K2 PUT XK AKX PNXPT XITIXD Unw 22 20X 72 120 M XD
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Who needs a mother when you have 0”v:

XN D"XIPKT K U D20 PO 00 AW KW 01 TOWM 2232 P17 RN T TPRwn XD
(.21p NAW) JAn? DPm PRw W XIPW AT 279

"Chew your food.”
21 723 XX 210 °I2 OIX 012’ O 271 INK N 27 T0KT
"Don’t stay out too late.”
DX 1P 2192 P T INK DX 051 5 DU vawna X0 0°pHX wun P2 NX D
(.77 o)
“Don’t spit in public.”
Personally I'd rather have ©” than a mother:
(:002 PYATR) AN PIOW 1IN 07T TR I
"Don’t get married.”

15 PIX Xj? M XINMN 172 XX 277 X7 °2 280 117°1°1] D11 112 DU 10K 1KY DPWRw 02 K X2
(.22 P1Pu) XNIX2 NP MRW N 719 K TP TAUX KN 7T P T 79 Nk 1

"Don’t get a Job.”

9 0K P72 10 DR PRAX TPY INK TPNUAYKD XO?T DPIXPT XN D oW X1 2772 130
(:n 0771) NPN2 727 %21 PNINA 127 221 0°02 XNUAXXA XO*7 27 K i1

"Eat your porridge with your fingers.”

n”a
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Oh non, ils ont divorcé, mais pourquoi?
(Why are they getting divorced?)

(.02 P*3) DXAWA IWIN P2 XX w0 5K
He was too much obsessing over minute trivial details.
(:27w3) W I WA AT A0
He was either too stingy with his money, or too poor.
(.72 PW23) I w2 "5IXNW NIn Py PWIA AN
He wasn’t frum enough.

012 P PR N AW N"U MAK T 5w MIp UYaNw AU 01NN? >TINw n'L wRa? hunw Nin YU w0
(.79 7°3) 9312 DT D0 DX TAUNWw RY K

He was expecting too much from her.
VIR DAY 7T XY 1K 1970 IX NI 12w XK 172 1POU 9031 717900 N0 OX DPAn WA 10
(” 12%7 v P9 PYAPa M 0"ann)
Bad Luck I guess.
Etc. Etc.

By the way the word for Luck in French is “Chance”. Sounds familiar doesn’t it?

DOXTINAX 2°XIN
| want to say there are at least 5 91 72’s in 0”Ww:

(.2 Mn2) Sn 12055

(.0 PYITR) PN 2 KT

(:00 PYTPR) Pran 12 XAX
(:137°13) Dran M2 wen

(:7T P22 2uT) Pran 12 X2

(€ I N TR RN
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HXINY K I 272 027
He was really a 7% of 13177 "1 so how many times in 0" do we see him saying a Xn°1 from 2X1w?
(:1° P23)
(:an 7o)
(.mn 7Pon)
And here is the one you won’t find in the Sefaria site:

(.nnp Naw)

Y by ... P IpoX
They named the son after the father

| counted twelve times in 0" that you have a son with the same name as his father:

(:1° M1272) XX 72 XIAX

(.XpP MAW) XX 72 XX

(. P2IN) PR 120X

(:7D P217°U) ©7N2 2 07N

(:712 TP TWIN) 73 72 I

(.25 97an) X 120K

(.1 P777I0) 2pL 12 2pW

(:1 77 MAY) PXP°Im 12 KN

(.X2 717 7T128) 2301 72 X0 T P X0
(.X¥ XIN3 X23) >IM 12N .10

(.2 m mOSwn') N1an |2 naan .11
(23 |'0'A 'Y]')WI"I') 'oI'ja 'or 1 .12
Now on these next two | want to introduce with this *1?u17 in 0773

LN WNR

(:22 773 R5WP) PAX DW 12w D2 XD 112 0w 'OP 12 T N2 72 X1 020
The question of the *n?u17° might be rhetorical but | use the phrase 72X oW 12w 2 X? 112 oW

in the non-rhetorical sense as a 112’0 for these two sons who’s name is one extra letter from their father:

Two who's father’s names are missing one letter of their names:
(.AD '2IN) 2NN NON [2N NI ND* 1 IN'0I
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(X2 P2Pu)IMI2N 1
(1 0°Ppw) XK21AXIX .2

Like Father Like Son

(:23 P7730) X177 AN 2°WN 12 00 2N X URIp 1R UKIp L1
(:710 MIN2’)(.T8 MN2?) WK S 12771 132 nunw .2

Both Nunw "1 and his son both darshen a 108 to only be referring to men based on the logic of
it is only w°X D 12717 etc.. etc..

Unlike The Father Is Not The Son

(79 M272)(.J0 PAIPY) 221X K23 72 XDTDIX XA XD L1
(3% P2IM) XIX XM2W 72 X1 XIX X720 X XK .2
(3777 7AL) RIX WX IMWKY .3

A P11 Vort

| want to say quick vort of P1°11. The Vort is “Define Your Borders.”
Define Your Borders:
a1 5K X 0199 WINn M 0M¥N 5M1 Ty nInNX > Mun DIPoU MNN VIN12°X IMX X1 02 1°0110
(.1 )

79N PHX X2 071K 19X DU 712 DPWIN AT T 0 PU L0 PWINKT TR P 2°N27 KA XIX 73707 TN
X177 0PN1 210 T 7T DI 207 WK 713 XA MY DX 0PI D2T1XA 7724 713321 U5 7% 71T A0IX 2201 9173
72 12717 1°D U 1Y NUWAT X0 12007 WK DX 197 XD 07X 07210 D°wUAT WD 1IN0 Ui DX
(:25 071T) W WD

UK XOX 1MPU2 X7 7172 WIRa 12 PR WIpnn 172 270 0PR X107 TPAwn AKX 12 X1 N InRKT 10m
(.1 M2712) 7292 1297 DWW MnX

Define your borders.
Stay in the w171 n°2.
Keep learning.

Don’t stop.
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oY W

Last night someone | want to call the 017w W (just because O12¥ means peace, and the dream was
peaceful) came to me in a dream. | was sitting in a recliner, and he was massaging my arm and my head.
He told me about the years in my life after my dad passed away. He asked me what was it that was so
hard after my dad passed away, and he said that all of the hardship is over. | feel that my dad D1>wi1 vou
has 015w, and that he is very proud to have a son who is sitting and learning in the w177 n°2.

I’'m going to keep learning.

I’'m not going to stop.

Ni Rien Ni Personne.

Ain’t nobody nor nothing gonna make me stop learning.

Here are two places in "W that | have seen the D1?W T quoted:

M1 DPRWI) NOK 12 17 MK M2 XIAW 1277 D19 T 1°27 0w3A 2102 X¥0 wnw 127m - .1
1IAX 127 MO1 172 XYY NI 20 DI [PMUAW [P an MK 1K 7T W 0N
>172°314 27 717 MDOIN 70 NAW) MTIA 17 2X1 NN 7P 20T 172 NDRY? MImMnT 02nTpn
(Mww

(.25 11210) D101 X177 DA DU XY T2 0T X2D1D KA X KT .2

Artscroll : Concerning a Lulav that grew with a single row of leaves it is considered blemished
and is invalid.

Note 8: The Elucidation follows Rashi, who explains that the lulav has leaves on only one side of
its spine. Others explain that Rava refers to a lulav with leaves on both sides, but the leaves
themselves are single ones rather than folded double leaves (Rambam, Hil. Lulav 8:4). Yet others
explain that the reference is to a lulav that has normal leaves, but there is only a single leaf along
the length of the spine on each side (Rav Sar Shalom, cited by Rosh). Tur and Shulchan Aruch
(ibid. 645:3) cite all three interpretations and rule that all of these lulavim are invalid.

oY



